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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last 1 hour 25 minutes of Examination will be given for
Part-II i.e. question paper of Part-II will be provided before 1 hour 25 minutes of
the end of Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o P AT BT I F 3T G0 § JRT g 8 T 497 13 &
Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 questions.
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The Code No. on the right side of the question paper should be written by the

candidate on the front page of the answer-book.
o DU IS F T [GGT G BT G Y&, JoT F FHH I iG]

Before beginning to answer a question, its Serial Number must be written.
o JuT-Yiasr & T F @l G/ 9 7 818/

Don’t leave blank page/pages in your answer-book.

o FUTGRaE & SR g o e T Al o SEvEdagar & g e krar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
o G ST T To FIT-GH GV 7FST [or@)

Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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General Instructions :
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All questions are compulsory.
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(i) HEF FIT & 7% ITH @7 T TT &

Marks of each question are indicated against it.

(iii) ST T GBI &7 aNeq

Your answer should be according to marks.

qis - H

SECTION - A

e T kx(x - 2) + 6 = 0 F K %I TET A S PR {6 6b & K qaA & 2

Find the value of k for quadratic equation kx(x — 2) + 6 = O, so that they have

two equal roots.

3q fifg & fwis 7@ @ik o figet 4, -3) iR (8, 5) & Sied a @S &
HAR® &1 | 3: 1% U & faiora & 2 2

Find the coordinates of the point which divides the line segment joining the

points (4, — 3) and (8, 5) in the ratio 3 : 1 internally.

sinZ 60° + cos2 60° H T 5T P 2

Evaluate :

sin? 60° + cos? 60°

TH g P AT @ g3 Prad @9 14 S 51 3@ g3 8N 5 e § W@ & S
FifeTC| 2

The length of the minute hand of a clock is 14 cm. Find the area swept by the

minute hand in 5 minutes.
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A box contains 5 red marbles, 8 white marbles and 4 green marbles. One

marble is taken out of the box at random. What is the probability that the

marble taken out will be (i) red ? (ii) white ?

gug - §
SECTION - B
W FHHT FH &l & Hi 3
3x_Sy__, x,y_18
2 3 3 2 6
Solve the pair of linear equations :
3x Sy_ , x,y_13
2 3 3 2 6
39 A. P. & 3147 U5 Fd HioW, Brge 1197 98 38 ® & 16d1 98 73 B 3

Find the 31st term of an A. P. whose 11th term is 38 and 16th term is 73.

Y-8 W & U g 7 SR, S figett A6, 5) R B4, 3) § HHEE &l 3
Find a point on the y-axis which is equidistant from the points A(6, 5) and

B(-4, 3).

Bregr 4.2 F9 ad o1 % U Mo B AR Boar 6 9 A OF 999 & 89§ B
ST 81 S0 3 e S i) 3

A metallic sphere of radius 4.2 cm is melted and recast in the shape of a

cylinder of radius 6 cm. Find the height of the cylinder.
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A game consists of tossing a one rupee coin 3 times and noting its outcome
each time. Monu wins if all the tosses give the same result i.e. three heads or
three tails and loses otherwise. Calculate the probability that Monu will lose

the game.

qig -9
SECTION - C

T AETHR ES & &% 528 H” 81 & i dan (Hed §) 986 & §H 4 & s
2l EE # dE SR HISR [ B 5

The area of a rectangular plot is 528 m?. The length of the plot (in meters) is
one more than twice its breadth. Find the length and breadth of the plot.

STeE
OR

Hﬁﬁ:{ﬁfﬁﬂ%aﬁﬂaﬁ?aﬁﬁzﬁgﬁmmﬁﬁa@%aaﬁr%wﬁaﬁmﬁ?

aﬁﬁsﬁgw,ﬁw%éaﬁ%wﬂﬁwmaﬁﬁm 5

A fraction becomes %, if 2 is added to both the numerator and the

denominator. If 3 is added to both the numerator and the denominator it

becomes % Find the fraction.
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s @i 6 - 5
1+s%n9 =secO+tan6
1-sin®
Prove that :
1+s?n6 =secO+tan6
1-sin®
AYqr

OR

99 % & g § @ 20 Hlo 7 9ad & REX W T 0F H9R AR & aq o Rex &
IO HIOT HA: 45° AR 60° Bl HNR P HAE G HiT) 5

From a point on the ground, the angles of elevation of the bottom and the top
of a transmission tower fixed at the top of a 20 m high building are 45° and

60° respectively. Find the height of the tower.

frfefaa o 225 faetll Suaeent & M sha-wr (e #) &t g 34 & 5
M- | 0-20 20-40 | 40-60 60-80 | 80-100 | 100-120
(ke %)
TRERET 10 35 52 61 38 29
SUHIT I qGAH SN-Hlel F BT
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The following data gives the information on the observed life-times (in hours) of

225 electrical components :

Life-time 0-20 20-40 40-60 60-80 80-100 | 100-120
(in hours)
Frequency 10 35 52 61 38 29

Find the modal life-times of the components.

3TeE
OR

frrafaRad aRaRAr de7 fhdl Aiect & 68 IUAEISA! B STl B ATGS @I Bl AT

5

1 SISl 1 ATHF TG B
e @ (gEd §) U @ den

65-85 4
85-105 S
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

P.T.0O.



(8) 104

The following frequency distribution gives the monthly consumption of

electricity of 68 consumers of a locality. Find the median of following data :

Monthly Consumption (in Units) Number of Consumers

65-85 4

85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4
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